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C, = T3+T, =T,Co+T, = AjB,Cy+Ay+ By = (Ag+Bg)Co+AgBy = (AyBy+ Cp)(Ag + Bp)
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S = AgUByOC,
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S A B |C4 S3 S2 S1 S0
a) | 0 0111 0110 0 1 1 0 1
b) | O 0100 0101 0O 1 0 0 1
c) |1 1100 1010 1 0 0 1 O
d |1 0101 1010 0 1 0 1 1
e | 1 0000 0010 0O 1 1 1 0
3-49. 78430258 98989899 09580089 99999999
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4/0 1 0 0/0 1 0 1 4,0 1 1 1{1 0 0 O
5/0 1 0 1/ 0 1 0 O 5/1 0 0 0[O0 1 1 1
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H=D H=D
G=C =C
F = BC+BC =B
E = ABC = A
Gates: 8 Gates: 4
Literals: 9 Literals: 4
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3-62.
From3-2.F=XZ+ZY
Using Nand Gates:
signal T: std_logic_vector(0 to 2);
begin
g0: NOT1 port map (Y, T(0));
gl: NAND2 port map (X, Z, T(1));
g2: NAND2 port map (Z, T(0), T(2));
g3: NAND2 port map (T(1), T(2), F);
end
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3-76

/[Fucnton Ffrom prolem3-2= XZ+ZY

module cicuit_3_76(X, Y, Z, F);

inp

ut X, Y, Z;

output F;

assign F=(X & 2) | (Z & ~Y);

endmodule
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